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In the following question, some part of the
sentence may have errors. Find out which
part of the sentence has an error and
select the appropriate option. If a sentence
is free from error, select 'No Error'.

She has (1)/ reduced her (2)/ consumption
to considerably. (3)/ No error (4)

A1 B. 2
C. 3 D. 4
C

In the following question, some part of the
sentence may have errors. Find out which
part of the sentence has an error and
select the appropriate option. If a sentence
is free from error, select 'No Error'.

Liquid water cannot exist on the surface of
Mars as to low (1)/ atmospheric pressure,
which is less than 1% of Earth's, (2)/
except at the lowest elevations for short
periods. (3)/ No error (4)

A1 B. 2
C. 3 D. 4
A

In the following question, the sentence
given with blank to be filled in with an
appropriate word. Select the correct
alternative out of the four and indicate it
by selecting the appropriate option.

That is cars I know.

A. the worst

B. worst

C. mostly worst
D. one of the worst
D

In the following question, the sentence
given with blank to be filled in with an
appropriate word. Select the correct
alternative out of the four and indicate it
by selecting the appropriate option.

The of many archaic and
dilatory procedures have proved to be
extremely damaging to our governance

and society.

A. caution B. translation
C. imposition D. revolution
C

In the following question, out of the
given four alternatives, select the one
which best expresses the meaning of the
given word.

Curtail

A. Prolong B. Downsize
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C. Lengthen D. Extend

B

In the following question, out of the
given four alternatives, select the one

which best expresses the meaning of the

given word.

Inference

A. Beginning B. Conclusion
C. Preparation D. Discovery
B

In the following question, out of the
given four alternatives, select the one
which is opposite in meaning of the given
word.

Consensus

A. Accord B. Discord
C. Consent D. Unity
B

In the following question, out of the given
four alternatives, select the one which is
opposite in meaning of the given word.
Mould

A. Genuine B. Shape
C. Slice D. Sculpt
A

Rearrange the parts of the sentence in
correct order.

In developing countries today

P : urban health conditions

Q : than rural health conditions
R : seem to be better

A. PRQ
C
A
A

B. PQR
QRP D. RPQ
sentence has been given in

Active/Passive Voice. Out of the four given

alternatives, select the one which best

expresses the same sentence in

Passive/Active Voice.

The workers are building the house.

A. The house was being built by the
workers.

B. The house was built by the workers.

C. The house is built by the workers.

D. The house is being built by the
workers.

D

A sentence has been given in

Direct/Indirect Speech. Out of the four

given alternatives, select the one which
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best expresses the same sentence in

Indirect/Direct Speech.

Sneha said to Arjun, “"Go away.”

A. Sneha ordered Arjun to go away.

B. Sneha asked Arjun that he should go

away.

C. Sneha say to Arjun to go away.

D. Sneha inquired Arjun to go away.

A

In the following question, a word has been

written in four different ways out of which

only one is correctly spelt. Select the

correctly spelt word?

A. Aggrression

C. Aggression

C

In the following passage, some of the

words have been left out. Read the

passage carefully and select the correct

answer for the given blank out of the four

alternatives.

When the kerosene burned, the fuel in the

tank below would be pressure,

and a small circular flame

would appear in the burner. The valve had

to be opened to let more kerosene vapour

to the burner and pumping resumed. With

the increase in pressure, the burner flame

would spread a loud noise. To

lower the flame, the valve had to be
opened to reduce the pressure

and then tightened until the desired flame

size was achieved. you wanted

the flame to be bigger, you had to hit the

piston again. Pump stoves are still in

B. Aggrresion
D. Agrresson

vogue.
below would be pressure
A. inside B. into

C. about D. under

D

In the following passage, some of the
words have been left out. Read the
passage carefully and select the correct
answer for the given blank out of the four
alternatives.

When the kerosene burned, the fuel in the
tank below would be pressure,
and a small circular flame
would appear in the burner. The valve had
to be opened to let more kerosene vapour
to the burner and pumping resumed. With
the increase in pressure, the burner flame

Ans.
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would spread a loud noise. To
lower the flame, the valve had to be

opened to reduce the pressure
and then tightened until the desired flame
size was achieved. you wanted
the flame to be bigger, you had to hit the
piston again. Pump stoves are still in

vogue.

and a small circular flame
A. slow B. slowly

C. slower D. slowest

B

In the following passage, some of the
words have been left out. Read the
passage carefully and select the correct
answer for the given blank out of the four
alternatives.
When the kerosene burned, the fuel in the
tank below would be pressure,
and a small circular flame would
appear in the burner. The valve had to be
opened to let more kerosene vapour to the
burner and pumping resumed. With the
increase in pressure, the burner flame
would spread a loud noise. To
lower the flame, the valve had to be
opened to reduce the pressure
and then tightened until the desired flame
size was achieved. you wanted
the flame to be bigger, you had to hit the
piston again. Pump stoves are still in

vogue.

would spread a loud noise.

A. within B. with

C. at D. during

B

In the following passage, some of the
words have been left out. Read the

passage carefully and select the correct
answer for the given blank out of the four
alternatives.
When the kerosene burned, the fuel in the
tank below would be pressure,
and a small circular flame
would appear in the burner. The valve had
to be opened to let more kerosene vapour
to the burner and pumping resumed. With
the increase in pressure, the burner flame
would spread a loud noise. To
lower the flame, the valve had to be
opened to reduce the pressure
and then tightened until the desired flame
size was achieved. you wanted
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the flame to be bigger, you had to hit the
piston again. Pump stoves are still in

vogue.
had to be opened to reduce
A. partly B. some

C. none D. everything
A

In the following passage, some of the
words have been left out. Read the
passage carefully and select the correct
answer for the given blank out of the four
alternatives.
When the kerosene burned, the fuel in the
tank below would be pressure,
and a small circular flame
would appear in the burner. The valve had
to be opened to let more kerosene vapour
to the burner and pumping resumed. With
the increase in pressure, the burner flame
would spread a loud noise. To
lower the flame, the valve had to be
opened to reduce the pressure
and then tightened until the desired flame
size was achieved. you wanted
the flame to be bigger, you had to hit the
piston again. Pump stoves are still in

vogue.
was achieved. you wanted the
flame

A. If B. Nor

C. So D. Thus

A

In the following question, out of the four

alternatives, select the alternative which

best expresses the meaning of the

idiom/phrase.

A bone of contention

A. The only part to which two arguing
parties agree.

B. An issue over which there is continuing
disagreement.

C. A very expensive inherited property.

D. To be happy with only a few things.

B

In the following question, out of the four

alternatives, select the alternative which

best expresses the meaning of the

idiom/phrase.

Zip your lip

A. Keep quiet about something.

B. To talk fast.

C. To not think before speaking.
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D. The silence before a storm.

A

In the following question, out of the four
alternatives, select the alternative which
is the best substitute of the
words/sentence.

A military or political group that rules a
country after taking power by force

A. Junta B. Suffrage
C. Emancipation D. Egalitarianism
A

In the following question, out of the
four alternatives, select the alternative

which is the best substitute of the
words/sentence.

A person who lives outside his native
country

A. Indigenous B. Natal

C. Expatriate D. Intrinsic

C

In the following question, out of the four
alternatives, select the alternative which
will improve the bracketed part of the
sentence. In case no improvement is
needed, select "no improvement".

At the micro level, the dialectical process of
development in India (has now heading)
towards another direction.

had now heading

now heading

is now heading

no improvement

cCop® >

In the following question, out of the four
alternatives, select the alternative which
will improve the bracketed part of the
sentence. In case no improvement is
needed, select "no improvement".

I wondered what one would have thought
some 40 years ago if you (had said) you
could heat liquid using a plastic container.
A. having said B. had say

C. have saying D. no improvement
D

The question below consists of a set of
labelled sentences. Out of the four options
given, select the most logical order of the
sentences to form a coherent paragraph.
Cars were owned by

A-only a privileged few and

B-my class of society was
C_ac vrar 1intAaiicrhad hayy ik



Ans.
125.

Ans.
126.

Ans.

127.

Ans.
128.

Ans.
129,

Ans.
130.

A. ABC B. CBA
C. CAB D. BCA
A

In the following question, four words are
given out of which one word is correctly
spelt.

Select the correctly spelt word.

A. arogance B. arroganse
C. aroganse D. arrogance
D

fArfof@a g A QU av fGevedt # @
Heftra eree oA gAT |
%EIQHW:Q‘F?-CIEIT::?:?

ary : feam

S ;S

eI I1fa:

aTgHTT : Hew

®»o 0 @ »

fAFIfead 2T # feU 710 Aseur & &
i .c a?roﬁ |
14 :16::22:7

A. 26 B. 29
C. 24 D. 28
C

efaf@d uesT # Gu v Adedl & &

T IER/3ERT @l IiAT |
ART : BSU : : MRV : ?

A. KFT B. NSW

C. MFG D. NRV

B
fAeIfai@d 9T & f&u a1v [eeur & &
faws s i AT |

A. FR B. @Tsfeher

C. TR D. ¢

C

A fqu aw ged A, IR FEar oA fu
w § | (-) F 9= 3R & dETm (<) F erit
IR & S wEw ¥ TwfAad @ gefed
g | I 3 v aHfEEE & IR w
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135,

Ans.
134.

Ans,
135.

Ans.

A ¢ | feu av faswedt 7 & e &t

T |

A. 10-121 B. 12 - 169
C. 14 -225 D. 16 - 279
D

Ao@d ued & U v [epedr & &
fawa 37eT/37ERT @ IfAT |

A. RTVX B. GIKM
C. DFIK D. LNPR
C

fFrafaf@d asal & UAseprar H 3 arer
A & ITAR oy |

Journey

Judge

Jingling

Jingle

Judgement

32541 B. 53142

43125 D. 15342

YPTR R N

fAefaf@a o7 & fer 1w Adeur & &
dcd 3 AT FFT |
11, 13, 16, 18, 21, ?

A. 29 B. 25
C. 27 D. 23
D

Uh A fear &, SEA @ v ug
oo ¥ | Ru av Resdt # ¥ a8 @@
fAeheq gfaw, St g 1 qU A |

IM, 1O, KQ, LS, ?

A. NV B. MU
C. MY D. NT
B

aghl HT UH GiFd H, Jolld H U T
BR ¥ 33-ar ¢ dur 3ifka & TU g
DR ¥ 25l g | 3% TIEAT H WER
deolel o UREN, Yelld &1 T & OR &
45-31 gl AT ¢ | 9fed & fhder a8 g2

A. 70 B. 71
C. 69 D. 74
&



136.

Ans.
137.

Ans.
138.

Ans.
139.

Ans.
140.

Ans.
141.

feu v fashedl # @ gF Ueg giAv S e
T ASE & FERT T TART Fleh Agl ST

ST heTl & |

Threatened

A. Heart B. Detain
C. Treat D. Heated
B

Us TAfAse I8 9T H, “book is tough”
F “fu la mi” &@T SAT §, “tough can
easy” & “fu muk po” for@r arar § aur
“easy not book” FI “ti po la” fo@r Srar
g | 39 IS HINT H “tough” & HIs FAT

g?
A. mi B. po
C. la D. fu
D

et fAfRaa &Iz oo & -, '+ & ygia
AT &, '+, X B YR T §, X, '+
H Yeild &l g AR '+, - @ gerid
AT ¢ | AFATaf@d IRaT &7 3 ATd L

I
2-12+10x5+12=7

A. 32 B. 8
C. 4 D. 14
D

feAfafed wefieor o1ea § | 38 awfeor
T FE A F AT BT o gt @ 3maw

H AcAT-gGoll FT AMgT?
1+14x30+20-10=12

A. -3IR + B. + 3R x
C. x3R - D. +3R =+
D

gfg 8%2 = 3, 14*18 = -2 3K 18*2 =8, ar
14*10 T AT AT FY |

A 2 B. -5
C. ~2 D. 6
A

fefaf@d & & #la @1 ug & = g
& HH & AR §7?

Ans.

142,

Ans.

143,
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XXXXXXX, XXXXXXX, XXXXXXX, XXXXXXX,
XXXXXXX,

B. XXXXXXX

A XXXXXXX
C. XXXXXXx D. XXxXXXX
C

T 3e-RFm arem T IET & 39er
Reem & foordar § 3R 3 &I 3N 6.5
A, &r g axar §, ™ ag 39elr S
RE HZ ST & AR 3@ 1.5 fFA. dw
ST & T gg aféior &1 &’Re Hsar ¢ 3R
3 2.5 A d& Srar g, R ag 3raer
98 R% HsaT g 3 3T 1.5 A d&
ST & | 39elr st Rufa & deer &
ag 3ifer 31 &gl &7

A. 9 fR.AY. 3¢ B. 4 f.#r. cfgor
C. 4 fh#. 3¢ D. 9 fr. A cfaor
C

g% & gl YT o I § oEe 3w ar
sy 1 3R 11 Aee T § | 39
AAT § 5 S FUd TF § I8 a8
ATATTT: A0 a2ar ¥ e gdia 8l & |
et Aoty seer § i o aw fAsest
4 FiF-H/HF-8 ARG T § FUA garT
qer fIereT ST @hdl g/A%d g, IG s
Il

hYUA I: HI T SISFH QUgAT dTeA TEl
gl

HYUT 11: gl afgY S5 g &

sy 10 % off gufgar aga afRy ¥
gl

fosehy 11: @ef ufgd crufgar areaT g &
A. had fashy 138 §

B. %had fassy II @gr &

C. ar sy 13X 11 Tdr &

D

A

. AT ar TSy 1EE & AT & ey 11



144, eAfaf@d 3mepfa &, 3ad Rihcaest @

Ans.
145,

Ans.
146.

Ans.
147.

Ans.

VeRld Xl § gd 9o fBergert @r
TeRId ar &, B AfdwRT #1 geRid
AT § 3R T 3fRal & yefia axar
& | 3ERT &1 HiaT & FHg 3 JARTHAT
H Yefd Far § St geu fEemseR A
AfdR 82

A C

A. FGDH
C. FHID
A

U A fear A §, A ¥ ™ 9
o ¥ | R av fFedt F ¥ aw @l
e giaT, S e T QW A |

LOP, MPQ, NQR, ORS, ?

B. FGK
D. GK

A. QTU B. QST
C. PST D. PTU
C

ffai@a e & fGu a1 [Aeeur & @
dCd 3 AT HST |
10, 12, 14, 16, 18, ?

A. 22 B. 24
c. 20 D. 26
C

QU v e #H, i @&kt & Or
T R aw ¥ | vdw wop F qEd au
N FEAT Ugel HEAT ¥ fRAT UH
drffaaa & @ § | &9 3@ &
deffAga & MR W A ¢ | ] aw
fahodl & & st &1 giaw |

A. (2,3, 4) B. (4,5, 6)
C. (6,7, 8) D. (4,6, 8)
D

148.

Ans.
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Ans.
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gfe Us gduT I MN ¥@T 9 @M AT ar
& Tl I IhfaEt A @ wiA-Ar 3
URa 3Thid T Al Ffdieea grei?

i@ 3R 3 & & @l &1 ool
feT arw geat T H & ol v F T
el oI HehdT?

W
Hloe.

O

d—d
7 X |52

C. D.
D
Ush AsG Hhdd Teh H&QI-HH@ GaRT gemam

T g, o R et # & R v H
fear amar § | fawedl # feU arv dear-aqg
&R & ar g9t garT gfe arw g, oar &
few T ar 3113{1;@’T HE | 3MegE-1 & FAF
AR 9fFd & FEAT 0 & 4 § 3MMegg-1I &7 5
¥ 9 3 TYQl ¥ Th &R &l Ugol 3T
gfFd R dg #H TEFEH TTIT @RI i
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152.

Ans.
153.

Ans.
154,

Ans.
155.

ST GohdT § | 3¢180T & forw "H &t 12, 34
e Z@RT gUTAT ST Fehdl § AT 'Q’ &
95, 86 HIf¢ GaRT G2MAT ST Hhal ¢ | I
TRE o 39 g2 # U wsg “BURN” &
foT &g 1 ggEeeT ¢ |

Matrix |

gy -1

e

uxf-u‘zo
lI)U‘“h
zl<|<|zmin|n
|
|
c|v|E|€|0|™
wi< = |OIN|®

3
)
F
B8
D
[

.wN-—n;o

nlalo|n|-|=

x|(A[»|x|=|~

@DNO“V‘
1

A. 43,69,13,56
C. 10,98,79,95

B. 30,75,11,97
D. 44,79,11,57

C

(377 +437) AR (377 +437) &

AYades AT HIey |

A. (43 -37) B. (43 + 37)

C. (377 +437) D. 10

B

[61681x61681—31681x31681] S
30000

AT RIS |

A. 93352 B. 94362

C. 93362 D. 95362

C

‘g% g AT & T 6x+12y +9=0 3R
2x+Qgy+3 =0 % (@I AH H FATYAT T
A. 3 B.
C. 6 D.
B

X=-4,x=2,y=-2 kicy y = 3 @t &

UE AR Heldel Hihs FH &TGB (FFATIAT

4
9

ghISAT H) FAT &2

A, 12 B. 24
C. 15 D. 60
C

AB g &1 Sftar ¢ 3R g & FF 0" ¥ |
g AB Hr wFars 20 AL, ON-(2v11)
. 8 o ga & B @A #@) Jd
T |

A. 10 B. 12
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Ans.
157.

Ans.
158.

Ans.
159.

Ans.
160.

Ans.
161.

Ans.

C. 13 D. 15

B
gd @I G 97 Siar & ofes 20.4 @ &
|lg@am s &

A. 10.2 Y

B. 10.2 & § &3

C. 10.2 8H & &1 AT NN

D. 10.2 §# ¥ &H

A

T AT I &1 gar dsE F HAT:
40% TAT 70% & §&IT I4T g | 3ad &

&ahel A fohdal gfaera & gefer gref?
A. 118 B. 110

C. 138 D. 128

C

6300 % &I A, BT CH 1/2:1:3/5 %
dqard # fasnfaa fhar s g | B @

gear (3 &) Fa1 82

A. 3300 B. 2700
C. 3000 B. 4200
C

U ddr Vsl A 184000 T dUT 224000 &
T AT fAder e Th AR YE R |
afe 9§ & 33T A 9od gU A H U H
fewar 20700 ¥ 8 A 39% carT fAAH
HAIT IAT Fel AT (T H) T gram?

A. 43200 B. 45900

C. 52300 D. 56400

B

g2 19 Ava gEam3idt &1 3daa a7 g2
A. 9.5 B. 15.5

C. 19 D. 38

C

Ueh OfY FTUROT a1l & 2 9Nt & 1392 F
JUT 3 guf H 1488 F & ST § | 9fa ay
SISl T & (Ffaerd H) &1 g2

A. 8 B. 10
C. 12 D. 8.5
A
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Ans.
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Ans.
164.

Ans.
165.

Ans.
166.

Ans.
167.

Th A #T TdhT Hed 2808 ¥ g | I
T gfAAd 17% &, o A & HT e

(¥ #) &1 87

A. 2288 B. 2300
C. 2400 D. 3285
C

T FHHT FT T Hed 3TF FT T A
40% 38 g | Ife HHT &1 40 T AT T
% TAId 520 ¥ H SGr IAT g, ar oreT
gfaerd a1 g
A. 33

C. 25
D

Rrfaf@a & @ $i a7 Y9 T 22

2V3 > 3V2
. 4V2 > 2V8

hadl 1
$hdol II
o ar I gr Il
13T 11 &t

B. 40
D. 30

—
—_

o0 ® p

C
X, Y TUT Z U & HI HAT: 30, 40 TJAT

50 feell & X T Fehd B | o=l fASRT
HR AT YBINA A § W Y I FATC
gl ¥ 4 fdaT qd@ #1 SIS Tl ST ¢ |

Tl A 7 T g3 g
A. 660/47 B. 640/47
C. 680/47 D. 665/47
A

T YowEmer 72 fhAL/mer & afd | =
W & | 1400 A H g T A A T8
fehcl @epus AEfr?

A. 70 B. 80
C. 72 D. 84
A

Ig 913 IIC a¥ 2017 & foU TedAd FHUar
& gT FI AHTST WS aar g | 39
ARG FH 3T Y 3R Arafaf@a geat
& IR T |

Ans.
168.

Ans.
169,

Expenditure (in Rs Lakhs) / 2 (@TQ §92 )

Labous / 97,
50

Research /
¥R, 50

e FaIfteh <@ fohd #e WX R Sirer
e?

A. HH B. $USRUT
C. lefelr D. FMA I FoRT
D

Iqg 9IS A a¥ 2017 & AU @AA Fuer
& T & QAT Tefld T g | 39
IRG F JEIIA w AR Arafaf@a gt
F I G |

Expenditure (in Rs Lakhs) / 2 (W@ 392 )

Labouws / 97,
50

RAevearch /

w0

Sl T (@ T H) &7 87

A. 1200 B. 900
C. 1000 D. 1100
A

Jg Uls II¢ a¥ 2017 & fAU @Al FHuad
& I @ Qe YeRld aar & | 39
HRG & 37T H AR Ar=faf@a geat
& IR S |

Expenditure (in Rs Lakhs) / 22 (W1 392 %)

Labows / 597,
S0

RAewearch /
w0
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Ans.
171.

Ans.
172.

Ans.
173.

Ans.
174.

AT &1 soRT @1 gfafAfca aer arer &8

& S HIUT HI AT Sl & |
A. 70 B. 75

C. 80 D. 90

B

Ig 918 I a¥ 2017 & fAU @aAd FHUer
& T #1 fAuee veild & § | 39
IR FT 3ETTA FY AR Aeafai@a gt
F 3T G |

Expenditure (in Rs Lakhs) / 20 (@@ 392 %)

Labowr / 59,
50

RAewearch /
N, 30

A AR HTHYUTT R fhar S arell =43

Sl oI AT feheler gfcrerd 8?2
A. 10% B. 12%
C. 7.5% D. 8.33%
D

T JAd I fawoT fr o@s AR 3HEA
dies saer 17 T 3R 8 wL. § | 3T
gRAT (H.A. H) AT FY |

A. 92 B. 46
C. 42 D. 84
B

T HYGd F &Fhe 1925 G d.AL ¥\
gHe IRATT (F.A. H) & 70T F |

A. 360 B. 80
C. 160 D. 180
D

T I & Tdg I &I%h 5544 g7 F.T.
¢ | 3T g (H.A #H) AT Y|

A. 42 B. 21
C. 84 D. 63
A

AABC H# B WX HH®IUT § | IfE msA = 45°
g, dr (cosecC + 1/v/3) &1 HAlT AT HL |

Ans,
175.

Ans.
176.

Ans.
977

Ans,
178.

Ans.
179.

Ans.

A. (3J§+ 1)/3

C. 5/3

D
AUVW # &IUT V &1 AT 90° § | 3Ifg

cosecU = 13/12 3R uv = 2.5 @&, ar
T VW T Fars (F.AT ) a4 g2

A. 6.5 B. 6
C. 4 D. 5.6
B

farafof@a fegaeyr & @ Sl9 3G
% PRPI W ITFdd TaIAcT IWdT g7
A. Yafrardr

B. HHTSAIET

c. AT

D. Yoilarer 3R FATSIEET gt

A

IS W1 @ HGUROM T gAHRT & T
Hler-dr Gfafa aifsa & a1 02

A. TH dgere Afafd

B. wehsrarer AfATA

C. arg "fafa

D. &a &fAafa

A
T & ¥ *I9-97 TIST FJ9NIOT JIT FHT

Tl H JHTOT FE Tl &2

A. =Rg B. Hgwg
C. oA D. HEIG
B

IR H TRE ARSI W odame Aol H
JHIG AT AT 87
A. 3 AfEee
B. A ARG
C. Smar AfSg

D. dIcemgr AfESG
A
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Ans.
181.

Ans.
182.

Ans.
183.

Ans.
184.

Ans.
185.

Ans.

TW F Jor gt & @R T &
frfaf@d & & wi-a1 Ha wé 872

qY, o, YT, Hrel

T, A, FW, g

qY, HITSA, g, Yk

o, T, eF, A

>0 0 = »

AR & fohael Tsdl # @ag dc 872
A. 7 B. 8

C. 9 D. 10
C

AR GET fohaeh Risg 472
. [Asr I

HEACAG qoIT & IRASTAT F G A
& fou fra a¥ &1 asw fFuiRa fear =

g?
A. 2022 B. 2023
C. 2024 D. 2025
B

FOT HEd 53 § A WEPR  H
grcdshdl § | fEafaf@d A& @ &l
qEh 3o GaNT Aol fodl TS §72
A. ST & fager

B. AT AL
C
D
D

. Toigafiarar
. oo Pys aRa aEr

ffaf@a & forg o & d@&r Ha @ 87
ST &7

A, FFEfEET B. o3
c. g D. HAR
A

186

Ans.
187.

Ans.
188.

Ans.
189.

Ans.
190.

W el & @ Fad urca

ST &2

A. WAH B. IS §pﬁﬁ
C. > D. Surd

B

fArfaf@a & & e dieax gdelr @l
# qRafda far s g&ar &2

A. STE&EaT B. BIEHRA
C. ToWY D. st
A

HRd & TUHAS! Aedafa@d # &
et & avqga: qr@AT B 82

I #Aifd 3mareEr

II. TS Thdl IRYG

1. ARAT I SN a8

A. FHad I

B. ohddl II

C. I III gl

D. I, II T III &Y

D

TIN GATHT & T AT THR a3 gl &
I I T &2

A. IR 9aId

AIRUTfIRT IRYG

TR e

P15 faweq WEr 76T & |

0o o0 W

fArfaf@a & & +la @ garer a@evor

UShH & NIl Ueh T AT 87

A. 9OTERA  (FRfher) camT Sehrer St
&1 37gRAyoT

B. YHII Fel H I[EREES Fer A
T’ OT

C. ol U &1 gISgIoled AT 3erdioret
H 3guesd



Ans.

191.

Ans.

192.

Ans.

193.

Ans.

194,

Ans.

195.

Ans.

D. &I SEHFESS HT FEE—ASE A
JHTerdTeRtoT

D
TId oI aifgwrt St T HIRAT 7Y
gl &, g ¢ |

A. HgIRRT B. g&faar

c. R D. AT

D

AdFaY 2017 H, ‘GUFTHAT TadeT 9arad
AISTAT T ARIoT fhae fRar?

A. g A B. g gure
C. 9y el D. 3. & &g
B

AT & IR GaRT Felld fhT T ar
ool oIf-Ye dlel Hehehl & ATH AT 572
Ml Gledl TUT FI3T 3T
gﬁwsﬁwamgwgw

oI AT AT

9TelT AT Al

®o 0 @ p

ARa T a¥ 2016-17 & QT To=T
grer &g gl el H dhd @ | d8
STErdT &1 fohdar gfaerd ar?

A. 3.50% B. 4.20%
C. 3.00% D. 2.50%
A

10 3 2017 I, ARTHAT = HICI dlgd
sfefgs (geye) fagaes, 2016 9 fohar
| dC wEuEl & HAdd Hg & fav
FITEST 25,000 F & AT 8
|

. 27 T HYar e

. 5WME@ ¥ 3FYAm 3HAH

A
B

C. 10 9@ ¥ 3Hyar A
D. 15 Mg ¥ 3Hyar 3if¥es
A

196.

Ans.
197.

Ans.
198.

Ans.
199.

Ans.
200.

Ans.

Ife 500 Forra 1 @A 25 Fhs & fow
yaIgd giar § o ORT dr auEm (A )

& |

A. 12500 B. 20

C. 40 D. 6250

B

et aeq & afa & gRe
AT & 1Y ST AT fAad AT & |

A. T W@ B. HI&T

C. UhHHATLT D. 41T

C

ISUThiea T &1l S SToary HHEwdT:
giar & Fife o a7 F IEuE
e g € |

A Yd B. f&Iol aerder
C. 3tk 3=rs D. 3FEREr

D

fArfaf@a # @ Sl ar Fua 7 8?2

I. HgFd 3N IHARTT & SsfAdes 2017
fISscqUth des WAy ATFqa=ARIT 6
ASTETT T |

II. SgealT HieT o cfad 2017 fRIEA
N9 gAY e St |

1L ek RffEe a8 2w 2017 Iuw
39T A-E THared S |

A. ad II B. hadl III

C. II 3R 11 D. I, II 3R III

A

ASHIEFE g8 H FFeX HAfET & 3ideld,
T 39T g9dieel @ @ 6
fore forar Srar & |

A. Blec Aelr B. Wiec &I TaT
C. 9HIG D. 3R
B



